2 | ]

Arcing fip screw

3x Bolt M6x20 DIN7991 A2 SHSB-21-SF
Arcing fip
Bolt M5x10 DIN963 A2 CHAT-12-SF

Interconnecting cable

Hod (Shoe) CHIS-26L-SF

CHIS-26K-SF

Interconnecting cable

Carier CHIS-26P-SF

CHCS-02-SF

Nut M5 DIN439 A2 Washer 6 DIN125 ZN

2x Safety ring 14x1

CHSR-18-SF 2x Bushing for horizontal pin

CHBH-19-SF

2x Nut M6 DIN439 A2

2x Cap nut M6

Lx Nut M6 DIN93L A2

Spring
Vertical pin CHRS-10-SF

CHVP-03-SF

Horizontal pin

Ring CHHP-06-SF

CHRV-07-SF

Bushing for vertical pin

Nut M10 DIN934 ZN CHVB-05-SF

Lock wascher 10 DIN127 ZN

Aluminum Beam @38/12°
CHAB-01-SF

Bolt M10x40 DIN933 ZN

Washer 10 DIN125 ZN

Contact connector
162.03.05.20.10

Washer 17 DIN125 A2
CHPW-16-SF

Safety ring 1#x1
CHSR-1#-SF

2x Lock washer 8 DIN127 A2 Clamping yoke

CHCY-04-SF

2x Bolt M8x35 DIN912 A2

ESKO T BoT ~ usa - 002

Datum: Jméno: NADPIS:

oo feso- e I SBERACI HLAVICE - USA S

MATERIAL:

R0z POLOT| MONTAZNI SESTAVA KONEOVKOU

OBJEDNAC] CiSLO: €iSLO VYKRESU:

0070.10.3.38 BOT - USA - 002 1: 163

A3

Stav Zmény Datum Jméno I

6 I B I A 4& 3 2 I 1



